| Efficiency vs Dxy |
> 0.1
<

S : : : : : : : : :
0,004

.08+ frde b b
Qo SR LA T T
K O e e A * R R R
© : : : : : : : : :
0.06 i * """" rorrrpreie
s o o o e s o
008ttt
s e e o T T o
002
e L o e

OJ--\-QnIII-IIII-””-””-I I I!IIII.IIII.IIII.IIII

Rati

09 56-16-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100
| Efficiency vs Dz | —e— DQM_mKkFit_TTbharPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0

PCutOverlap

0.1 —— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi
N U, ; T T T
©

$.09 SR RS SRR SRR SRR S
3 | | | | ;
DOB
o : : : : :
ﬁ)07 """ """""" """"""" -----------
® : : : : :
0.06 ...........
0.05 et A U —
0.04F |yt fill
0.03 ___________
0.02 : : :

0.0

0
1

Ratio

0.9

0.8

2030
TP dz (cm)

I
w

o

I

N

o

| g :
(@) T

o

|_\

o



	Contents
	Page 1


